
Open TimeType Size Item Price S / L T / P Close Time Price profit trade loss trade

2019.06.12 11:13:57sell 0.01 usdjpy.mic 108.270 108.870 0.000 2019.06.13 06:32:59 108.336 -0.61

2019.06.13 14:03:06sell 0.01 eurusd.mic 1.12858 1.12988 0.00000 2019.06.13 20:47:53 1.12827 0.31

2019.06.24 13:52:52sell 0.01 usdchf.mic 0.97484 0.97829 0.00000 2019.06.24 18:09:25 0.97232 2.59

2019.06.25 08:26:08sell 0.01 chfjpy.mic 110.103 110.421 0.000 2019.06.25 12:01:53 109.778 3.03

2019.06.25 17:22:29buy 0.01 xauusd.mic 1435.00 1423.47 0.00 2019.06.25 17:49:07 1430.92 -4.08

2019.06.25 19:34:03sell 0.01 eurnzd.mic 1.70935 1.71281 0.00000 2019.06.25 23:51:50 1.71306 -2.46

2019.06.26 08:11:52sell 0.01 eurusd.mic 1.13539 1.13621 0.00000 2019.06.26 08:58:27 1.13621 -0.82

2019.07.02 12:12:05buy 0.01 usdchf.mic 0.98846 0.98605 0.00000 2019.07.02 16:58:08 0.98817 -0.29

2019.07.03 13:48:11sell 0.01 usdchf.mic 0.98443 0.98518 0.00000 2019.07.03 14:04:04 0.98423 0.2

2019.07.03 19:32:57buy 0.01 gbpnzd.mic 1.87411 1.87184 0.00000 2019.07.03 19:40:46 1.87359 -0.35

2019.07.08 13:55:02buy 0.01 cadchf.mic 0.75886 0.75302 0.76091 2019.07.08 16:28:49 0.76094 2.1

2019.07.08 17:49:18sell 0.01 eurusd.mic 1.12092 1.12203 1.11945 2019.07.09 12:19:23 1.11984 1.08

2019.07.08 17:38:16buy 0.01 usdjpy.mic 108.731 108.633 109.072 2019.07.09 13:29:44 108.790 0.54

2019.07.09 20:24:44buy 0.01 xauusd.mic 1399.86 1394.60 1405.00 2019.07.10 03:05:49 1394.54 -5.32

 9.85

Gross Loss = -13.93

Total Net Profit = Gross Profit + Gross Loss = 

1.407

0.71
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-4.08
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Average  profit trade = Gross Profit/7 = 

Average  Loss  trade = Gross Loss /7 =

R/R =Average  profit trade /Average  Loss  trade=

Win Rate = number of Profit Trades /Total Trades = 7/14=

Gross Profit =

IF Max Risk =20 =>   20*0.8 =16 

CL=4*1.2=4.8  ~=5
       RPT= 16/5=3.2

Loss Rate=1-Win Rate =1-0.5 = 




